Example 1 Solve each system of equations by multiplying. Check the answers by
graphing the systems of equations.

3x+8y=7

® {2x—2y= —10

Multiply the second equation by 4.

4(2x — 2y = —10) = 8x — 8y = —40

. Add the result to the first equation.

3x+8y= 7
+ 8x — 8y = —40
11x =-33
Solve for x.
11x = —33
x=-=3
Substitute —3 for x in one of the original equations, and solve for .
3x+8y =7
3(—3)+8y=7 ' S’( 8 X
—9 48y =7 ?3 —4 —2 10| MZ - ‘
8y =16 BTN RN R
L . . 4
The solution to the system is (—3, 2). ‘ : '

Low=3b ¥3x+2y=4)& 1%
4x—13y=5)2

Multiply the first equation by ___ and multiply the second equation by _____ _. 50 the x terms in the
system have coefficients of —12 and 12 respectively.

D (=9
S

(4x — 13y =5)

' ‘ | © Add t resulting equations.

\ y:,,_/
+12x — \\\ 'y:// | ("l )(-'[gyi.g) 9.
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Solve the first equation for x when y =
- —3x4+2y =4
’ —3x + 2( ) = : o =4.,.1,, e
—3x+ =4 2
"""" e I x
—4 2.0l 2 .4
‘= 21
The solution to the system is . SIS r ,
S19
a5 |
Your Turn
Solve each system of equations by multiplying. Check the answers by graphing the
systems of equations. i
e ™~ L
4 [Bx+4p=12"- “L '
=
i‘ :
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For each linear system, multiply the first e*q}};i'tion by 2 and add the’ﬁew equation to

by

the second equation. Then, graph this newy"équ\z}tion along with both of the original
equations. .

5 2+ 4y = 24
—12x 4+ 8y = —16

g ./ £(§x+zy=1é\3}a Lx by 10
T15x+ 3y = —12 - _
TS oy A =37

y +ay=16 36 x 3X7°?

- - X =d

//
Qyzlg V=4
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